IES PADRE FEIJOO MATEMATICAS

10.-

11.-

12.-

13.-

14.-

15.-

16.-

17.-

18.-

19.-

20.-

21.-

22.-

23.-

24.-

25.-

26.-

27.-

28.-

29.-

OPERACIONES COMBINADAS
4-5[2+4(3-5+3-6:2-6[2:3- 3
7-[-4m-30-8:4-5M@2) -12: 3]
5-4[[-2+6-40(-1-6:3) - 3]-12:(1-5)
[-2-(-2+7)-5] -[-8 -(-7-2) - 6]

[(-10) : (-2) -16:(2-6)]: [8:(-2)-3:(1-2]]
[4-(-6) + (-6)]: [6+(-7) - (+3)]
[40(5-2)-10:5] Of60(1-4) -403-7)]
(5-2) O[-5+9-12:4-306-8-6:2)]
7-30(1-4) O5-7) -30(-2+12:3)]
500-15-205-15:3) -50(4-7)]
[40(206+34-307): (-6:2+3mM@-1)]
6-50(1-4)0-12:3)-30(- 4 +18:3)]
[-12:(2-8)-408:2)]: [ 6:(5-7)-15:(2-5)]
(6-10)0(2-4)c[(8-4):(-3+5) -20-5:5)]
24:[307-9) -12:(5-9)]

-9-[-4005-7) -405-9)]
~-5-5[-50-5+2) -50-3+5)]
6-6C306-503-15:(3-8)]
18:(-5+2)+8:(4-6)-5-401-3)
7-30205-3)-30(2-7)-24: 4-38]
-{7-[2-(-8)]} - {9-[-5-(2-9¢) - 4]}
9-[303-7) - (6-2)0(-7+6:2)]
(7-2){8-2-14:2-30(6-2-12:4)]
8-6C[-9+5-30-2-6:3) -16:2 + 3|
(2-7)0(3-5)c{(2-6):(-3+5) -3(9:3]]
7-[-30(-8:4)-(1-7): (-4-6:3)]
-4-20-3-4:(6-4m)-(8-2):(8-5m)]
5(-6+3)0(-8:4):(2-5)]

508:2-3m4) -40-6:(4-7)]

2° ESO



